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WarmUp Crade 8

Friday. Nov. 17
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o) 2_ 72 43°
\K/ S’?’} By o
3 4 Y
&t
=710
1 24
k) D 138
25 (S P d
0 (0225 ';o;-?' 4225
(025_2;5¢£1+22-5—2)5
> B ob = o
SHd=1"
20 =
e e 2y
> Q\z C;”‘c.ol-;l’-})(oz
h = 4y +256
(,1' 4oD



gr 8 u1 sqgre day 15 pythag tri (day 3_ Section 1.6).notebook November 17, 2017

Homework solutions

L 2_ 92147
& ] 1 o\— Cc:’l:z]}'q ')'/b

o R 590 +49



gr 8 u1 sqgre day 15 pythag tri (day 3_ Section 1.6).notebook November 17, 2017

Homework solutions

|2 c, - = Sl

2 o\}oe@maj o Ul

" 2. )2’ ¥ 16*



gr 8 u1 sqre day 15 pythag tri (day 3_ Section 1.6).notebook November 17, 2017

0. Homework solutions
51;’ MO KRl Yhe <ide }chﬁ‘H)s
o$ O~ r\oglﬂ’: ‘brllcmgle\ He
H(gpo%ohug.e, Q.H 'L,t e }anrées{’
h(m\l)er‘ S nee '\): 1 S ”"/"‘)"#g H»-e—
|1>V\g-€5'\3 Sele .

@2 _“T:d CQ: az __)_é’& )
2 2
e
|19 = o
A A =13 o} 1= 13
c\:g} - b c= b L= 12
LA ’\5’/\:) o= b b:—-\}/ﬁ
e | +1731%
AL Qx| A7



gr 8 u1 sqgre day 15 pythag tri (day 3_ Section 1.6).notebook November 17, 2017

‘g Homework solutions

N Cﬁ—'— o}gg}; i 4/q”z
h 2 (A
2 220 + [k
= c’= :—%Yl(i
u 7= A3k
70 % 570 c= b
2520
A0 )
= &2 Yo
cC =
R Y I P Tl
3l o2+ 1
-] -:av_z‘,j_' (7=1]
\ (DL_,_: G
ﬂl?%: 0
—~ CL
A9
L)* h C:L_ 2 | /2
= G- 7]
07'_1 ?'}’8



gr 8 u1 sqgre day 15 pythag tri (day 3_ Section 1.6).notebook November 17, 2017

Homework solutions

t b) x
Perfect Squares A L}_VV\,\-:SQ S \ S © OJJ

b SyECk SG\,\/"’J.U 7
5 P e 44
M |+ 14y =225
169 196 Q_ 2 _ 44
225 O\—?} b = )




gr 8 u1 sqgre day 15 pythag tri (day 3_ Section 1.6).notebook November 17, 2017

If you are given the lengths of a triangle, how can you determine
if it is a right triangle?
Check
c2 = g2 + b2

You can use Pythagorean Theorem to find out if the square of the longest side
equals the sum of the squares of the other 2 sides.
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Example 1) Side lengths 10 cm, 14 cm, 17 cm \ (Abg_\ O'h“'
In our example does = + ?
c2 =22 + b?
If it does, it is a right angle triangle, otherwise it is not.
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Example 2) o Vo C

Is the triangle with sides 6, 8, and 10 a right angle triangle?
(Show work) 2
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Pythagorean Triple:

November 17, 2017

is a set of 3 whole numbers that satisfies ¢ = a2 + b?

Example 1) 3,4,5
since 5%=232+ 42
9279 = @ %\
28
Example 2) 7, 24, 25

since 252 = 72 + 242
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Class/Homework

Test Tuesday Nov. 28
Page 43 Jr—

#4(a,b)
#6 (a,c,f)
#7(a,f)
#8
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